[ERFERET
7= i F &
REFHT AW AT B0, 10 W ST Ll & & B AR, A2 H AT R
R AT R A St E e, 2T RRE AT &
—. i
SRR TR E TS R R, SRS AL Ry, W52 Jyiiess, A R b
DR EREER, CURLRIE RGN H S A AR AR I R B i F K RS S
BAEF IR E TR, SRR % A%, AR, 2
RIRFE . R 77 MER RS A R B AT — IR SRR T SEME I SRR BT EA
o AME AT (GBT18940-2003 & f & 1 Hh At & I Eim At i 21t ), (GBT21391-
2008 AR IR EHIE KRR E) AR ERRHE (JIG 1037-2008 iREEI &6 E
FUFEY RIAT RO 5E
AL S )
WEEE, —MAA 1. 5%R. £ 1. 0%R;
WIGFIREK. EAR/N . SRS PUKSRERE LT ;
WA RN R AR AT, AU B B R SR A
WO LB, B 4EE T
=. URSH
1 EXSH

VTR | BE22i%EE: (DN (20, D25. 32. 40. 50) A[SRASLuES:, JohlEisgr (JMEgD )

FEREES% | +1.5%R (+1%R F45H)D

%M | AREEE: -200C~+80°C; HEE . -30°C~+60°C; FHXIREE: 5%~95%; KSJE/): 86~106KPa

ASNEJE: +24VDCx15%, Zi<t5%, & T 4-20mA fr . ikt . RS485 &

TAEHJR . o —
B.WHLJRE: 177 3.6VDC #rE i, X E(KT 2.0 B HBIR B R.

REHLIIFE | ASPRIE: <AW; B.NHLJR: ~FIEIDIFESAW, mESHEH =4 L.

e | OkFE 5 @4 ~ 20mA BIRE 5OI1C £EHE S @RS485 i#ifl

3.2 ETEHE R EREIRIR
AR N3 ¥R HEHTTA MRS s 555 4% R B s 552
(mm) (m3/h) (m3h) | - (Mpa) (Mpa)
DN 20 S 2-20 W 4-40 R
DN 25 S 2.5-25 W 4-40 R
DN 32 S 4-40 W 6-60 BRLUE 4.0MPa KLU (B840
DN 40 S 5-50 W 6-60 R 6.3MPa AR (22
S1 | 6-65 W1 5-70 o
DN 50 R
S2 | 10-100 W2 8-100
DN 65 S 15-200 W 10-200 1.6 6.3MPa & LLK
S1 | 13-250
DN 80 W 10-160 6.3MPa & LLK
S2 | 20-400
S1 | 20-400 %=
DN 100 W 13-250 6.3MPa & LLK
S2 | 32-650
DN 125 S 25-700 W 20-800 6.3MPa & LLR
DN 150 S1 | 32-650 W 80-1600 6.3MPa & LLK

REWHAMBHE R EAR AR ik REWEE XA AR 2 SEHE—-5 25K 2113

Hii%: 022-86393578  fLEL: 022-27984101  HE4H: zx@tjbily.com



http://baike.baidu.com/view/16263.htm

S2 | 50-1000
S1 | 80-1600 50-1000

DN 200 W 4.0MPa K LIF
S2 | 130-2500
S1 | 130-2500

DN 250 W 80-1600 2.5MPa & ULF
S2 | 200-4000
S 200-4000 W1 | 130-2500

DN 300 2.5MPa K LLF

W2 | 320-6500
DN 350 S 150-8000
DN 400 S 300-10000

M., feREH

HE

=R
LWQ -ol/o| /o |/oj/lo|l/o]|/o]/o be il

PR AT, +12V 5 24V B, it = AR (5 5

MR, +24V fiEH, HrH 2R 4~20mA

WEIR, IR R A S

B S

TEAME R, B EIFmfeis R L)

N
A
B
c XUBEHL, Bl Bor i — 2] 4—~20mA
D1
D2

TEAME &L, IR Ifatess (R

PRI b E2% (32 REEEMRER] RETPSH - AKER

Wi E2% (32 RETEEMRER] REDPSH-EERE

St E2% (32 RENEEMRER] RETSH -V RERE

S AN

L e

S ) ABS

L e

N BT

7 5 2% E1l ExdIICT4

E2 ExdIIBT6

i P 2% N i

H E2% [3.2 BRI ] R P25 Rl

N | ®HH, 1.5

e by 5
R REAF 2 G | S ERE 1.0, 0.75 9%

R, MRS
5.1 5MER~E (AMERSTE 1-2)

REWHAMBHE R EAR AR ik REWEE XA AR 2 SEHE—-5 25K 2113

Hii%: 022-86393578  fLEL: 022-27984101  HE4H: zx@tjbily.com




DK
o]
_
L1
SMERSTE 1--- Bi2s:
Fira-z @ 86. T8 (EE
r -
L — f—
L2
SMERSHE 1--- BEUES:
52 MBI ZERY—K
AFRIEE %2 BRAL
URKELL | 4MED | MR FLIE K | iBfligd 5 R L2 G

(mm) (mm) (mm) (mm) BE | FE | SMRL
20 170 105 75 14 ¢14 M12>560 170 170 G2
25 170 115 85 14 ¢18 M12>560 170 170 G2
32 200 140 100 18 ¢18 M16x70 200 140 G2
40 200 150 110 18 4 M16x70 200 140 G2
50 200 165 125 18 4 M16x70 — 220 G5/2
65 240 185 145 18 4 M16x70
80 240 200 160 18 8 M16x70
100 300 220 180 18 8 M16x70

R AR R AT IR A 7]

Hii%: 022-86393578

fEH.: 022-27984101

Hohik: REEWPEXAH A 2 5ER—5 25K 2113 )2

MEFE: zx@tjbily.com




125 240 250 210 18 8 M16>70
150 450 285 240 22 8 M20>90
200 500 340 295 22 12 M20>90
250 500 405 335 26 12 M24x110
300 300 460 410 26 12 M24x110
350 350 520 470 26 16

400 400 580 520 30 16

REWHAMBHE R EAR AR ik REWEE XA AR 2 SEHE—-5 25K 2113

Hii%: 022-86393578  fLEL: 022-27984101  HE4H: zx@tjbily.com




